BID TABULATION FOR:

CONSTRUCTION OF THE THE GEORGE WATER SUPPLY PLANT PHASE 1 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C

JOHN R. WEBER

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 07, 2025 LJA ENGINEERING, INC. D.CAMPOS 5/7/2025

4683-1501 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LIA JOB NO.

BIDDER NAME	BASE BID
1) R & B GROUP.INC.	\$7,601,645.00
2) EAGLE CONTRACTING	\$7,917,741.40
3) PRINCIPAL PLANT SERVICES, LTD.	\$8,561,957.00
4) W.W. PAYTON CORPORATON	\$8,970,000.00

330/360 DAYS

P.E., hereby certify these bid tabulations to be true and correct.

O:\LAND\4683\1501\05072025_George Water Supply Plant Ph. 1_BT

CONSTRUCTION OF THE THE GEORGE WATER SUPPLY PLANT PHASE 1 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 07, 2025 LIA ENGINEERING, INC. D.CAMPOS 5/7/2025

4683-1501 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) R & B GROUP.INC.		2) EAGLE CONTRACTING		3) PRINCIPAL PLANT SERVICES, LTD.		4) W.W. PAYTON CORPORATON	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	PLANT BASE BID ITEMS SITE WORK FOR PLANT SITE INCLUDING GRADING, PIPE SUPPORTS, SPLASH PADS, AND ALL REQUIRED APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$60,000.00	\$60,000.00	\$44,850.00	\$44,850.00	\$147,569.00	\$147,569.00	\$10,000.00	\$10,000.00
2.	YARD PIPING, INCLUDING FITTINGS, VALVES, EXCAVATION, BEDDING AND BACKFILL, AND ALL REQUIRED APPRUTENANCES, AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$700,000.00	\$700,000.00	\$480,125.00	\$480,125.00	\$624,007.00	\$624,007.00	\$1,335,000.00	\$1,335,000.00
3.	PAINTING OF ABOVE GROUND PIPING, INCLUDING VALVES, METER, PIPE SUPPORTS, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE`	LS	1	\$30,000.00	\$30,000.00	\$34,040.00	\$34,040.00	\$70,315.00	\$70,315.00	\$60,000.00	\$60,000.00
4.	TRENCH SAFETY FOR YARD PIPING, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00
5.	8' TALL BRICK FENCE, INCLUDING 27' DOUBLE SWING STAINED WOOD GATE WITH METAL FRAME, COLUMNS, AND ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LF	1330	\$200.00	\$266,000.00	\$233.00	\$309,890.00	\$181.00	\$240,730.00	\$175.00	\$232,750.00
6.	INTERNAL V-BOTTOM DRAINAGE SWALE, AS SHOWN ON PLANS, COMPLETE IN PLACE	LF	714	\$40.00	\$28,560.00	\$30.00	\$21,420.00	\$23.00	\$16,422.00	\$5.00	\$3,570.00
7.	4" PIPE BOLLARD, COMPLETE IN PLACE	EA	5	\$500.00	\$2,500.00	\$805.00	\$4,025.00	\$402.00	\$2,010.00	\$500.00	\$2,500.00
8.	6" REINFORCED CONCRETE PAVEMENT WITH 8" LIME OR CEMENT STABILIZED SUBGRADE EXTENDING 1' OUTSIDE PAVEMENT, COMPLETE IN PLACE	SY	1591	\$150.00	\$238,650.00	\$103.00	\$163,873.00	\$97.00	\$154,327.00	\$150.00	\$238,650.00
9.	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	110	\$40.00	\$4,400.00	\$10.45	\$1,149.50	\$39.00	\$4,290.00	\$20.00	\$2,200.00
10.	CONNECT TO EXISTING CONCRETE PAVING, COMPLETE IN PLACE	LF	110	\$50.00	\$5,500.00	\$52.27	\$5,749.70	\$22.00	\$2,420.00	\$10.00	\$1,100.00
11.	12" REINFORCED CONCRETE STORM SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	440	\$200.00	\$88,000.00	\$124.15	\$54,626.00	\$139.00	\$61,160.00	\$100.00	\$44,000.00
12.	24" REINFORCED CONCRETE STORM SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	67	\$300.00	\$20,100.00	\$224.00	\$15,008.00	\$187.00	\$12,529.00	\$150.00	\$10,050.00
13.	12" C900 DR-18 PVC STORM SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	105	\$175.00	\$18,375.00	\$145.12	\$15,237.60	\$118.00	\$12,390.00	\$70.00	\$7,350.00
14.	TYPE "E" INLET, OPEN ALL SIDES, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$6,000.00	\$18,000.00	\$4,772.50	\$14,317.50	\$6,081.00	\$18,243.00	\$3,000.00	\$9,000.00
15.	TYPE "A" INLET, OPEN ALL SIDES, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$6,000.00	\$30,000.00	\$3,126.50	\$15,632.50	\$6,515.00	\$32,575.00	\$3,000.00	\$15,000.00
16.	500,000 GALLON, 59" DX24"H POWDER COATED STEEL GROUND STORAGE TANK, INCLUDING TANK PIPING, FOUNDATION, VENTS, RAILING, LADDERS, SPLASH PAD, AND ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$600,000.00	\$600,000.00	\$559,225.00	\$559,225.00	\$1,010,833.00	\$1,010,833.00	\$800,000.00	\$800,000.00
17.	CONTROL BUILDING INCLUDING REINFORCED CONCRETE FOUNDATION, PIPING, CONCRETE PUMP SUPPORTS, CONCRETE PIPE SUPPORTS, HOIST AND RAIL, AIR COMPRESSOR, AIR CONDITIONER, VENTILATION EQUIPMENT, SUMP PUMP, PAINTING, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$580,000.00	\$580,000.00	\$885,500.00	\$885,500.00	\$1,462,851.00	\$1,462,851.00	\$800,000.00	\$800,000.00
18.	40 HP NON-OVERLOADING HORIZONTAL SPLIT CASE BOOSTER PUMP WITH MINIMUM EFFICIENCY AT 62% AT 500 GPM AND 150' TDH, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$20,000.00	\$20,000.00	\$36,225.00	\$36,225.00	\$56,246.00	\$56,246.00	\$50,000.00	\$50,000.00

CONSTRUCTION OF THE THE GEORGE WATER SUPPLY PLANT PHASE 1 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS BID OPENING DATE: MAY 07, 2025 BID OPENING LOCATION: LJA ENGINEERING, INC. D.CAMPOS TABULATION BY: TABULATION DATE: 5/7/2025 LJA JOB NO.

4683-1501 (9.2)

				1) R & B GROUP.INC.		2) EAGLE CONTRACTING		3) PRINCIPAL PLANT SERVICES, LTD.		4) W.W. PAYTON CORPORATON	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
19	. 125 HP NON-OVERLOADING HORIZONTAL SPLIT CASE BOOSTER PUMP WITH MINIMUM EFFICIENCY AT 82% AT 2,500 GPM AND 150' TDH, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$50,000.00	\$100,000.00	\$58,650.00	\$117,300.00	\$67,560.00	\$135,120.00	\$70,000.00	\$140,000.00
20	BLEACH CHLORINATION SYSTEM, INCLUDING TWO PERISTALIC PUMP ASSEMBLIES WITH 1,000 GAL DOUBLE WALLED TANK, 1/2-INCH SCHEDULE 80 PVC PIPE FEED LINE, CHEMICAL INJECTION ASSEMBLY, AND ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$40,000.00	\$40,000.00	\$59,800.00	\$59,800.00	\$92,418.00	\$92,418.00	\$80,000.00	\$80,000.00
21	. LAS SYSTEM, INCLUDING TWO PERISTALIC PUMP ASSEMBLIES WITH 350 GAL DOUBLE WALLED TANK, 1/2-INCH SCHEDULE 80 PVC PIPE FEED LINE, CHEMICAL INJECTION ASSEMBLY, AND ALL APPURTENANCES AS SHOWN ON PLANS, COMPLETE IN PLACE	LS	1	\$50,000.00	\$50,000.00	\$59,800.00	\$59,800.00	\$34,696.00	\$34,696.00	\$60,000.00	\$60,000.00
22	EMERGENCY EYEWASH/SHOWER AND WATER ACCESS ASSEMBLY, INCLUDING BACKFLOW PREVENTER, HOSE BIB, AND APPURTENANCES, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$10,350.00	\$10,350.00	\$20,681.00	\$20,681.00	\$7,000.00	\$7,000.00
23	. 20,000 GALLON HYDROPNEUMATIC TANK, INCLUDING TANK PIPING, FOUNDATION, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$160,000.00	\$160,000.00	\$185,150.00	\$185,150.00	\$280,453.00	\$280,453.00	\$250,000.00	\$250,000.00
24	. STORM WATER POLLUTION PREVENTION PLAN, INCLUDING ADMINISTRATION, MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PLANS AND AS DIRECTED BY THE ENGINEER, TO BE MAINTAINED UNTIL CONTRACTORS NOTICE OF TERMINATION IS SUBMITTED, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$8,050.00	\$8,050.00	\$1,250.00	\$1,250.00	\$250.00	\$250.00
25	. FILTER FABRIC FENCE (SILT BARRIER FENCE), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1256	\$10.00	\$12,560.00	\$4.60	\$5,777.60	\$7.00	\$8,792.00	\$1.00	\$1,256.00
26	. INSTALLATION, MAINTENANCE AND REMOVAL OF CONCRETE WASHOUT PIT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$2,300.00	\$2,300.00	\$500.00	\$500.00	\$500.00	\$500.00
27	. INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$5,175.00	\$5,175.00	\$500.00	\$500.00	\$674.00	\$674.00
28	. INLET PROTECTION BARRIERS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	8	\$100.00	\$800.00	\$287.50	\$2,300.00	\$100.00	\$800.00	\$50.00	\$400.00
29	ALLOWANCE FOR ELECTRIC SERVICE PROVIDER. EXACT AMOUNT WILL BE REIMBURSED TO CONTRACTOR UPON SUBMITTAL OF INVOICE FROM ELECTRIC SERVICE PROVIDER, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
30	ALLOWANCE FOR ESTABLISHED GAS SERVICE INCLUDING GAS METER, CONNETION AND LINE FROM STREET TO METER. CHARGES FROM GAS SERVICE PROVIDER SHALL BE PAID BY THE CONTRACTOR. THE AMOUNTS PAID, SUPPORTED BY INVOICES, SHALL BE INCLUDED IN PAY REQUESTS FOR REIMBURSEMENT WITHOUT A GENERAL CONTRACTOR MARKUP, COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00	\$6,500.00
31	NEW 1200A 480V SERVICE WITH METERING PER UTILITY STANDARDS, WITH ALL DISCONNECTS, GROUNDING, CONDUIT, WIRE, DUCT BANKS AND SERVICE RACK. COMPLETE AND IN PLACE.	LS	1	\$60,000.00	\$60,000.00	\$178,020.00	\$178,020.00	\$105,688.00	\$105,688.00	\$100,000.00	\$100,000.00
32	. NEW 800KW NATURAL GAS GENERATOR, 1200A ATS, CONDUIT, WIRE, CONTROLS AND DUCT BANK FROM GENERATOR TO ATS. COMPLETE AND IN PLACE.	LS	1	\$600,000.00	\$600,000.00	\$606,050.00	\$606,050.00	\$707,315.00	\$707,315.00	\$700,000.00	\$700,000.00

FRN F-1386 LJA Engineering, Inc.

CONSTRUCTION OF THE THE GEORGE WATER SUPPLY PLANT PHASE 1 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 07, 2025
LIA ENGINEERING, INC.
D.CAMPOS
5/7/2025
4683-1501 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) R &	B GROUP.INC.	2) EAGLE CONTRACTING		3) PRINCIPAL PLANT SERVICES, LTD.		4) W.W. PAYTON CORPORATON	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
33	NEW 1200A MCC WITH ALL 480V BREAKERS, STARTERS, CONTROLS, PFCC'S, AUTO SENSORY PANEL, CONDUIT AND DUCT BANKS. COMPLETE AND IN PLACE	LS	1	\$380,000.00	\$380,000.00	\$531,300.00	\$531,300.00	\$498,089.00	\$498,089.00	\$550,000.00	\$550,000.00
34	. 25KVA LTG. TRANSFORMER, 120V/240V PANEL "LV" WITH ALL BREAKERS, STARTERS, CONTROLS, AUTO SENSORY, AND 120V/240V DUCT BANKS TO ALL 120V/240V LOADS. COMPLETE AND IN PLACE.	LS	1	\$380,000.00	\$380,000.00	\$71,300.00	\$71,300.00	\$187,106.00	\$187,106.00	\$200,000.00	\$200,000.00
35	. CONNECT TO EXISTING 16" WATER LINE, INLCLUDES ALL FITTINGS, ADAPTERS AND CONNECTORS NECESSARY, COMPLETE IN PLACE	EA	2	\$14,000.00	\$28,000.00	\$4,025.00	\$8,050.00	\$1,850.00	\$3,700.00	\$500.00	\$1,000.00
36	. 16" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$4,025.00	\$8,050.00	\$2,978.00	\$5,956.00	\$1,000.00	\$2,000.00
SUBTO	TAL WATER PLANT BASE BID ITEMS			•	\$4,567,945.00	•	\$4,546,266.40		\$6,039,481.00	_	\$5,741,000.00
	WELL BASE BID ITEMS . DRILL ONE PILOT TEST HOLE TO 1,700 FEET, INCLUDING WELL LOGGING AND SAMPLING AND ANALYSIS, COMPLETE IN PLACE	EA	1	\$400,000.00	\$400,000.00	\$529,000.00	\$529,000.00	\$284,200.00	\$284,200.00	\$400,000.00	\$400,000.00
2	. INSTALL A 30 SACK CEMENT PLUG FOR UNUSED PORTION OF WELL TEST HOLE, COMPLETE IN PLACE	EA	1	\$10,000.00	\$10,000.00	\$8,625.00	\$8,625.00	\$7,613.00	\$7,613.00	\$8,000.00	\$8,000.00
3	. TEMPORARY TEST WELL INSTALLATION PILOT TEST HOLE, PUMPING AND WATER SAMPLING AND ANALYSES, COMPLETE IN PLACE	EA	3	\$50,000.00	\$150,000.00	\$55,775.00	\$167,325.00	\$49,228.00	\$147,684.00	\$50,000.00	\$150,000.00
4	DRILL AND CONSTRUCT 24"X18" WATER WELL INCLUDING FOUNDATION, CONDUCTOR PIPE, SURFACE CASING, NON-PERFORATED PRODUCTION CASING, CEMENT SEAL, PERFORATED PRODUCTION CASING (SCREEN), BENTONITE PLUG, GRAVEL FILTER PACK AND APPURTENANCES, WELL DEVELOPMENT, PUMPING TESTS, AND WATER SAMPLING AND ANALYSIS, (AS SHOWN ON PLANS), COMPLETE IN PLACE	LS	1	\$2,000,000.00	\$2,000,000.00	\$2,090,125.00	\$2,090,125.00	\$1,613,850.00	\$1,613,850.00	\$2,100,000.00	\$2,100,000.00
5	EQUIP WATER WELL WITH 250 HP ELECTRIC MOTOR, 1,200 GPM PUMP, WELL HEAD, CONCRETE FOUNDATION, VENT, PUMP BOWLS, 480 FEET OF WELL PUMP COLUMN PIPE ASSEMBLY, WATER LEVEL ACCESS TUBE, AIRLINE ASSEMBLY, ALL ELECTRICAL COMPONENTS REQUIRED FOR WELL OPERATION, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$250,000.00	\$250,000.00	\$305,900.00	\$305,900.00	\$236,129.00	\$236,129.00	\$350,000.00	\$350,000.00
6	. ADD OR DEDUCT FOR CHANGES TO 795 FEET TOTAL LENGTH, 24" CONDUCTOR PIPE, COMPLETE IN PLACE	LF	10	\$220.00	\$2,200.00	\$220.00	\$2,200.00	\$220.00	\$2,200.00	\$220.00	\$2,200.00
7	. ADD OR DEDUCT FOR CHANGES TO 190 FEET TOTAL LENGTH 18" PERFORATED PRODUCTION CASING (SCREEN), COMPLETE IN PLACE	LF	10	\$450.00	\$4,500.00	\$450.00	\$4,500.00	\$450.00	\$4,500.00	\$450.00	\$4,500.00
8	. ADD OR DEDUCT FOR CHANGES TO 320 FEET TOTAL LENGTH 18" NON- PERFORATED PRODUCTION CASING, COMPLETE IN PLACE	LF	10	\$180.00	\$1,800.00	\$160.00	\$1,600.00	\$160.00	\$1,600.00	\$160.00	\$1,600.00
9	. ADD OR DEDUCT FOR CHANGES TO 480 FEET LENGTH OF PUMP SETTING BY ONE 20 FEET SECTION OF COMPLETE WELL PUMP COLUMN ASSEMBLY, WATER LEVEL ACCESS TUBE, AIRLINE ASSEMBLY, AND ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$4,300.00	\$4,300.00	\$4,300.00	\$4,300.00	\$4,300.00	\$4,300.00	\$4,300.00	\$4,300.00
10	. ADD OR DEDUCT, INCREASE OR DECREASE, 25 HP WELL MOTOR INCLUDING ASSOCIATED ELECTRICAL COMPONENTS, COMPLETE IN PLACE	EA	1	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00

BID TABULATION FOR:

CONSTRUCTION OF THE THE GEORGE WATER SUPPLY PLANT PHASE 1 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 07, 2025
LIA ENGINEERING, INC.
D.CAMPOS
5/7/2025
4683-1501 (9.2)

				1) R &	B GROUP.INC.	2) EAGLE CO	NTRACTING	3) PRINCIPAL PLAI	NT SERVICES, LTD.	4) W.W. PAYTO	ON CORPORATON
NO. ITEM DESCRIPTION		UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
SUBTOTAL WATER WELL BASE BID ITEMS					\$2,825,200.00		\$3,115,975.00		\$2,304,476.00		\$3,023,000.00
MISCELLANEOUS ITEMS 1. EXTRA CEMENT STABILIZED SAND (MIX AS RECOMMENDED BY GI (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMP PLACE		CY	100	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00
2. DEWATERING FOR STRUCTURES, AS REQUIRED BY SOIL CONDITION USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	ONS (TO BE	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3. DEWATERING OF LINE WORK, (TO BE USED ONLY AS DIRECTED B' ENGINEER), COMPLETE IN PLACE	Y	LF	100	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
4. EXTRA 4,000 PSI CONCRETE WITH REINFORCING STEEL, (TO BE US AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	SED ONLY	CY	100	\$300.00	\$30,000.00	\$300.00	\$30,000.00	\$300.00	\$30,000.00	\$300.00	\$30,000.00
5. HYDROMULCH SEEDING OF PROJECT SITE, AND ALL DISTURBED A BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE		AC	3	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00
6. CONTROL OF SURFACE WATER FOR DURATION OF CONTRACT, (T ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	O BE USED	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
7. EXTRA DUCTILE IRON FITTINGS, (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	ВУ	TON	1	\$3,000.00	\$3,000.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
8. MISCELLANEOUS DRAINAGE SWALES, (TO BE USED ONLY AS DIRE ENGINEER), COMPLETE IN PLACE	CTED BY	LF	2000	\$3.00	\$6,000.00	\$6.00	\$12,000.00	\$3.00	\$6,000.00	\$3.00	\$6,000.00
9. SOD FOR EROSION CONTROL, COMPLETE IN PACE		SY	500	\$3.00	\$1,500.00	\$35.00	\$17,500.00	\$3.00	\$1,500.00	\$3.00	\$1,500.00
 METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PEI PARTNERS, LP, 281.499.4539 	R GBI	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
11. AS-BUILT FINAL GRADING SURVEY, MUST BE DONE BY GBI PARTN 281.499.4539, AND MUST BE SUBMITTED TO ENGINEER PRIOR TO COMPLETION, COMPLETE IN PLACE		LS	1	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00
V.SP											

BID TABULATION FOR:

CONSTRUCTION OF THE THE GEORGE WATER SUPPLY PLANT PHASE 1 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237C CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 07, 2025
LIA ENGINEERING, INC.
D.CAMPOS
5/7/2025
4683-1501 (9.2)

				1) R &	B GROUP.INC.	2) EAGLE CO	ONTRACTING	3) PRINCIPAL PL	ANT SERVICES, LTD.	4) W.W. PAY	TON CORPORATON
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
12	2. SUCCESSFUL SUBSTANTIAL COMPLETION, PER CONTRACT DURATION, TO BE BILLED AS DIRECTED BY THE ENGINEER	LS	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00
13	B. SUCCESSFUL FINAL COMPLETION, PER CONTRACT DURATION, TO BE BILLED AS DIRECTED BY THE ENGINEER	LS	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
14	I. MAINTAIN ALL WEATHER ACCESS ROAD THROUGHOUT CONSTRUCTION, AS DISRECTED BY THE ENIGINEER, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
15	5. 3' WIDE REINFORCED CONCRETE SIDEWALK, 4" THINK, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	300	\$40.00	\$12,000.00	\$100.00	\$30,000.00	\$65.00	\$19,500.00	\$35.00	\$10,500.00
SUBTO	TAL MISCELLANEOUS ITEMS				\$208,500.00		\$255,500.00	4	\$218,000.00		\$206,000.00
BID SU	MMARY										
WATER	PLANT BASE BID ITEMS				\$4,567,945.00		\$4,546,266.40		\$6,039,481.00		\$5,741,000.00
WATER	WELL BASE BID ITEMS				\$2,825,200.00		\$3,115,975.00		\$2,304,476.00		\$3,023,000.00
MISCEL	LANEOUS ITEMS				\$208,500.00		\$255,500.00		\$218,000.00		\$206,000.00
TOTAL	AMOUNT BASE BID				\$7,601,645.00		\$7,917,741.40		\$8,561,957.00		\$8,970,000.00